Models of Motion

e How do we describe the motion of a soccer ball?




Kinematics: Mathematical
Description of Motion
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Acceleration
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A train car moves along a long straight track. The graph shows
the position as a function of time for this train. The graph shows
that the train:

position

time

1.speeds up all the time. — a>o
@Iows down all the time. — @ <o S > aca
3.speeds up part of the time and slows down part of the time.
\4.moves at a constant velocity.



The graph shows position as a function of time for two trains
running on parallel tracks. Which is true:
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AL, At time tg, both trains have the same velocity. — opes are dflorens
* 2. Both trains speed up all the time. 4, - o
@. Both trains have the same velocity at some time before t;.

* 4, Somewhere on the graph, both trains have the same
acceleration.



Kinematic Equations

» Descriptions of Motion (words — sentences)
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